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oK o # XA T 3K % = it
001 | T & H Hr 504 561 649 1,210
002 | & K HI 615 709 770 1,479
003| £ &= H H 350 363 329 692
004 | & % H 982 1,175 1,103 2,278
005 | X 33 T 745 917 955 1,872
006 | = & F B 1,330 1,796 1,689 3,485
007 | #& A T 186 262 217 479
008 | 5 4 Hr 841 993 1,106 2,099
009 [ K f& H 567 782 767 1,549
010 | & H i) 995 1,316 1,411 2,727
o1 | £ B F M 672 827 858 1,685
012 | &  H 865 1,106 1,279 2,385
013 | #8h H i) 956 738 833 1,571
04| & ® H 876 1,105 1,172 2,277
015 | # B  H 122 162 186 348
061 | XEE—TH 93 53 22 75
062 | XFEHEZTBH 213 187 192 379
063| XEHE=TH 6 27 51 78
064 | XFEHEMTH 110 108 156 264
071 | £HFAHEI—TH 36 28 41 69
072 | £FHFABIZTH 275 283 236 519
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oK X F | HEK 5 = i
081 | M BT — T H 0 0 0 0
082 [ A BT Z T H 25 605 37 642
083 | A BT = T H 167 192 210 402
091 | QLB —TH 87 87 111 198
092 | BT —TH 89 165 355 520
101 | P ET—TH 118 113 124 237
111 | FEHE—TH 114 114 127 241
112 | FSHEZTH 93 71 85 156
113 | FEHE=TH 141 128 133 261
114 | FHEHEMTH 91 102 110 212
115 | FEHEATH 143 111 162 273
116 | EFSHHEIATH 145 133 152 285
117 | FLHHEETH 137 140 171 311
118 | EF&HHE/NTH 137 138 157 295
121 | EBFHE—TH 83 79 82 161
122 | EBFHIZTH 54 56 58 114
123 | EBFHEHI=TH 83 83 96 179
124 | EBFHIUTHE 75 72 64 136
125 | ERFHEATH 102 103 121 224
126 | EBFHEIATHE 148 123 144 267
127 | EBFHETH 143 97 163 260

a it 13,074 16,210 16,684 32,894




